The Straight Line
Homework 2
1.  Find the equation of the median AD of triangle ABC where the coordinates of 

     A, B and C are (-2, 3), (-3, -4) and (5, 2) respectively. 















(3)
2.  Find the equation of the altitude PR of triangle OPQ where the coordinates

     of O, P and Q are (-2, 3), (-3, -4) and (5, 2) respectively.



(3)
3. Find the equation of the perpendicular bisector of the line joining A(2, -1) and
B(8, 3).









(3)

4.   A triangle ABC has vertices A( -4, -3), B(-2, 1) and C(6, -3)
(a) Show that the triangle ABC is right angled at B.



(3)
(b) The medians AD and BE intersect at M.

(i) Find the equations of AD and BE.



(6)
(ii) Find the coordinates of M





(2)
5.
Solve 
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(3)
6.
Simplify each expression
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